
Examiriation: Management I (Financial Accounting) Winter 200617 
Examiiier: Luhmer 
The following aids can be used: calculator, Eiiglish language tlictiotiary 
The exam consists of  the 4 questions below an overleaf, all of n hich are to be answered. 

1. lncome Statement. Most of the sales of Paolo's inobile phonc store Lire cash sales but tie 
offers credit to corporate custoiiiers. Paolo owns the building in which thc store is sitiiateci lt  
contains additional office space i-ented out to an advertising agency. Froni the followiiig d~ita 
(trmout~rs 1t1 6000) prepare tlie store's income staternent and balance sheet at end-2000. Ignore 
taxes. 

/ & I ]  ßeg~t l t l~ t~g  t~lrllrtzce s/leer, (11 I Jcrt~ulrr~~ 06 
F1 ictl t1sscrs 

(7 at cost Ruildin„ 5 00 
less Accum~ilated depreeiatioii 100 

400 
Equipmeiit, at cost 110 
Less: Accuinulated depreciation 3 

60 
460 

C'urrent clssets 
Accounts receivable 12 
Merchandise inventory 8 0 
Cash 20 

112 

Total assets 572 

[B] Surnr?zat?~ of cash flows clziritzg 2006 
Inflo WS 

Collections from customers: 
Credit sales 9 ti 
Cash sales 500 

596 

.Annual i-ent rcceived, 1 September 3j 
629 

Oit~izers ' equrtj. 
Owner's capital (contributed + 

retai ned profits) 23 7 

Long-terrn lrtr hllrrles 
8% bank loan 

Current liabllirles 
Accounts payable, phone suppliers 47 
8%, bank loan, current portion 5 0 
Rent received in advance 2 0 
Accrued interest payable 15 
Other accruals (utility costs) 3 

135 
Total equities 572 

outflows 
Payrnents for: 
Merchandise (mobile phones) 432 
Salaries 48 
Utilities I G 
lnterest on loaii 20 
Equipment 30 
Loan repayiicnt 3 

5 96 

In additioii. tlie biisiness's books disclose the f o l l o ~  ing (all currency aiiiounts are in 000): 
(a) Credit sales i n  2006 arc oiie-fiftli of casli sales that year. 
(b) Witli i.cgn~-d to the extra office space, the advertising ageney pays one ycar's rent i i i  

ad\.aiict. on 1 September eacli ycar. Rent was increased by 10%, iii ZOO0 - froni 30 to 33. 
( C )  Duriiig 2 0 0 0 ,  mobile phoiies kit a cost of 440 Lvere purchased for resalc. All p~irchases :Ire on 

accoLiiit. 1111 entory deelined by I0 (in cost tei.nis) betweeii the Start aiid end of thc year. 
( d )  .Aiin~iiil depreeiation cliarges oii tlie b~iilding and equipment aecl~iired bcfore 2006 ai-c 70 aiid 

12 respi.cti\ cly. As for tlie ecliiipiiieiit purchased in 2006, Paolo records a fiill year's (straight- 
liiic) tisl~reciatioii tliat yeai-. Ecliiipmeiit life: fi\,e years, no residual \ alue. 

( C )  liitesest oii ~Iie 8'%, baiik loaii is paici anniially on 3 l March. Pacilc) repays oiie-liftli of'tlic loaii 
oii 3 1 >l,ii-cli 71100. (Assiiiiic :i 7 0 0  day ycai- \\.lit.n calciilatiiig iiilc'scst espeiise.) 

( I) T'lic ciici-7000 iicci-iial (1 i ' i i t i  111'. costs is 2 .  S~ift'salni-ies cariied i i i  2 0 0 0  Lire paicl by q,ear--eiid. 



2. Zero Bond. 
Carnicn Gonzalez decidcs to develop ;i iicw \.irieyarci in Argentina. At the start of 2006. her 
cornpany issues C25 millioii of tive-ycar Zero coiipoii boiids at a price (per boiid) of 62 .  Tlic 
yield to niaturity is 10% (approxiniately) on aii ~innual basis. The company's financial year 
riins to 3 1 Decenibcr. 

Reyuired 
(a) How rnuch casli does the company rcceive in 2006:' (Igiiore issue costs.) \\'hat 1s the discniiiit 

at the date of issue of the boiids? 
(b) What is the life-time cost of the bonds to the company? 
( C )  What is the interest expense the conipany recognises in 2006 and 2000 iiiidcr: 

( i )  the straight-line method of discount aniortisation? 
(ii) the interest niethod of discoiint amortisation? 

(d) How will the company report thc bonds in its balance sheet at the end of 7006? At the end of 
2009? Assume the company uses the interest method of discount amortisation. 

3. Costs of sales and inventory under alternative cost flow assumptions 
A distributor of yacht equipment stocks a new type of desalinator (i.e. a filtration device to make 
drinking water out of sea water). The following purchase quantities and priccs were recorded: in 
April: 5 units @ €2.340 each, in May 5 units @€2,100 each, and in June: 6 units '2 €2,050 each. 
Sales in the respective quarter were 17 units. Costs of sales are calculated on a periodic basis at 
the end of the quarter. 

Required: 
(a)  Compute the costs of second quarter sales and of units in inventory at end-June under FIFO, 

WAC, and LIFO. 
(b) Assunie the company uses the WAC method. A sales representative urges the purchasing 

manager to purchase additional units in June at a price of €2,050. He argues that the 
additional units will reduce the risk of stockouts in the busy 3rd quarter and, in addition will 
increase second quarter's profit. Recalculate WAC cost of sales in the secorid quarter, 
assuming the company buys 10 instead of 6 units in June. Why is the cost of sales lower than 
in (a)? 1s the coinpany better off buyiilg 10 units instead of 6 in June? 

( C )  What if inventory at end-dune is val~ied at replacenient cost? 

3. Bad debt 
The balance sheet of a company shows the following per end 2005 (all amounts in E): 
Accounts receivable (gross): 410,000, less allowance for bad debt: (22,000), accounts receivable 
(net): 388,000. Credit terms are: "iiet 30 days". During 2006 the coiilpany makes cash sales of 
1.8 million and credit sales of 3 millioii. I t  collects 2.85 niillion from credit custorners. I t  writes 
off 30,000 of bad debts (relating to 2005 as ~vell as to 2006 sales). At the end of 2006 an ageing 
aiialysis of receivables results in thc follo\\~iiig: 

~~~~~~ 

C iirrciit 
+ 

r ~ e r c e n t a ~ e  of 2008 receivables 45 
1 Percentace exuectcd iincollectible , 0.5 

1 Nuiiibers of days past diie 
I 
+- P- 

I 
I 1-30 - 6 0  ;60  1 
? -  1 -J> 

11.5 10 1 40 I 

Rey ir ired: 
(a)  Cross amoLiiit of receivables ciid-3006 
(b) allou~i~ace for bad dcbts (end-3000) (i-oiiiid to iicarcst 000); 
( C )  Bad debt cxpeiise i-ecogiii7cd Ibr 2000 


